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Q.1(a) State the plobablhty mass funcuon of Hyper Geomett ic Dlstnbutlon State its

Pr opertles

{(b) The probabllity that a petson can hit a target is 2/3 Fmd the probabiilty
that * he will hltsthettarget Sintime at theninth tnal «A!se,.fmd the mean and’
‘variance of numbers of: fatlures before Swtrial,

(c) For Geometf‘tc‘chst’hhrtj%mnl Wean ='5'and Varlancfe1 L6 m‘ean] ‘Find P(X>2)

e © OR

Q 1(a) State the plobablll yr Ik
propérties and usés! :

E (b)There are 40 ina class out of them iO% students are taklng mterest in sports
: If 3 students are se!ected One attel another from thIS class then f‘ nd the
probabﬂ]ty that at legstﬂ students of them ale takmg mterest in sports. Also find
the mean and vauance_eﬁ stpdents who has mterest m the sports o

{c) Seventy percent of manﬁbes are sweet m a lot Fmd the p:obablilty that the ‘

ﬁrst sweet mango wrt be ot)tamed when the 4 mange ts tasted

e

Q.2(a) Explam the pr mmple ot dommance for solving a game p] obiem W|thout

Saddle point; ' o
(b) Solve the following game problem:
. B Player B - )
Player A | By | By, By [ Ballr . .
Jt e VN T U P 0
M 2022

(¢c) Form the following dt{t}l Qf"'t,;me taken 6 jobs on three machines, determine

the optimal sequence of the jobs,

_ s':_ffunctlon of Negative: Bmomlai dtstrsbutlon State |ts

(6)

(7)

(3)

T

(6) -

Y

(5)
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. Job

1213 4|5 6
Machinel |3 !12{ 5121 9 |1l
Machinelf | 8 1 6 | 4 16| 3 | |
Machine II[ { {3 [ 14| 9 121 8 |13
OR

Q.2(a) Define the sequencing 'and‘ state its assumptions.

(b) For the following data find optimal sequence and total ideal time for both

the machines,

Job: 1121314156178
Machine X3 [ (4] 5 |4 11|69 |10

[

Machine Y. 110 [ 81719 i8]6121(5

(c) Solve the following gamé_.p:roblem:

| Player A Player B
: Bi (B2 | Bs| By
A 6 2 101319

A 4 4 3 5
As N R O S B

Q.3(a)Explain the meaning of :3|§3130graphic statistics. State ifs uses.
(b)Find the CDR of cities-A &nd B, Find the SDR of city A considering the

Population of city B as étaﬁpal'd and compare these two cities with regard

to health. _
Age{ln | . City A City B
vear) | Population | Death | Population | Death
0-15 | 2500 75 2000 60
15-30 3600 25 2500 20
30-50 12500 1235 5600 50
Above 50 |- 1400 70 1900 95

{c) From the following dat.a“bﬁ'a city of total population 4 lakhs, calculate
GFR, SFR , TFR and CBR..

Age 16-20 | 21-25 | 26-30 | 31-35 | 36-40 | 41-45 | 46-50

No.of | 34000 | 46000 { 58000 | 70000 ; 35000 | 20000 12000
WOomen s

No. of live | 1020 _2560 12600 | 9200 | 1100 160 72
birth '

OR

(6)

)

()



Q.3{(a) Explain : (1) CDR and SDR

(2) IMR

(b) From the data-of following two cities, decide which city may be regarded

Healthier? ‘ ,
Age (In - City A CityB_ - Standard
year) Population | No. of | Population | No, of | Population
death death

0-5 .6000 300 5500 110 5000

5-30 7000 210 7500 120 10000

30-60 17000 170 12000 144 15000

Above 60 20000 400 25000 500 20000

{¢) The totai population 4 takhs and of them 40% are females, 50% of total females
are in child bearing age. If ;the GFR is 40, estimate the number of children that
will be born during the next year.

Q.4(a)What is mean by Lot Control Technigues ? Mention Advantages.

(b) For a single Sampling Plan (1000, 100, 2), Find Pa, AOQ and AT! when
the fraction defective of the lot is 0.04 (¢* = 0.0183) |

(c) Find the accepting probability of a lot, for a SSP (100, 20, 1) when
defective proportion is 2%.

” | OR

Q.4(a) Explain: (1) SSP (N, n, ¢)
(2) AOQ and AOQL

(b) Out of following plans, which one is the better plan for consumer?

Plan |  (N,n,¢) LTPD

] (50,8, 0) 8%

Il (1000, 100,2) | 5%
(%% = 0.007, £ = 0.0067)

(c) For a SSP (50, 10, 0) find producer’s risk and consumer’s risk when AQL= 4%
and LTPD = 10%, -
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Q.1() UQENAR [ActRQe] deudstl us @A wandl, Aet ol il (6)
(b) 518 A cAGA ABULL Yot Ratet ol 2y Aell detcot 2/3 8, (7)
A 2 B ottei YR Wi cvet et il o Qefl Hedastl
R, Aner wipdl cviet Ratist ofiell wh A udel Rrsictioll dvaistl
Meals e [AuRe Rad,
(0) G AR [ActREL S HEAS = 5 2w PN = 6 (Heals) B, L P(x22) el (5)
| BT

Q.1(a) 2 BUEl Bty Heuastl U @8 aauell, et opendl ua (6)

Gull .,

(b) A& <M 40 Quuelled &, guiel 10% [Cuuiela M) & (7)

w2 B, i cofuieg] s uefl As w3 (el ude sl

23 A Auiell ol A A Cuaiel MIAHAHE 3 H1ddl

Slaitef] deticetl 2], McdAHAHL 24 HRUddl [Quaie{laqlefl Huulell

Hes WA (UL 0,

() 08 agaarl @2 2t 3 AL B, vtz Mell B uman () (5)

QAR yer 204 38 1A Aol et .

@




0.2(a) THcloll Attlid Hd YUl Retid yuHendl.

(b) el Al 2Hctell GHet M

Player B
PlaverA | By | Bo | Ba | Ba
A 1 0 2 -2
Az i 2 0 2
A3 2 0 2 4 -2
Adq 21 2 |2

(c) 6 5llat 2RL =7 UR sRal W2 ol wHelold ol el R wefl
g 1T eeectd 4 g,

g2l 231456
wellt 1 |3 121512109
wellolyr 1816141631
wellet qyn 113147 9 112] 8 | 13

vl

Q.2(a) sHclloll caltvall ], Aofl yual tegURA cdl, |

(by ol Aol Wil uell Brectit 51 e i Hallot H2ell otci12l

AH2 R,

T sl 123456 78
vl X |45 41|69 10]8
wollel vy 1018719186125

() ollAell Mol GHet am:

Player A Player B

B | B> i Bs| By
A 61210119
Az 4 41315
Ay S 13- -6

Q.3(a) clxcllldmas uisstol w8 U Aof] GUBLAL HHsl

(2)

(6)

(%)

(6)




(by o3 2l Ml il 6l aibeell dlHLel HRje? AL B ©)
adeoll clicllol Qut@d ol A adeell YHIBlA HYER gl el
wl & 3ol widloaiell efA wuHell 82l |

GWR ABRA T
(edml ) | axll | HY
0-15 2000 60
1530|3600 25 2500 20
3050 | 12500 | 125 5600 56
[Above 50 | _ 1400 70 1900 | 95

(c) A& ABR QA A6l HBA =R B, A Gurell Al Yogeloter, QR (5)
Yool el §el yegatole? . B g el 4 M aal A wel

oo ER S

G 11620 [ 2125 | 26-30 | 31-35 | 36-40 4145 | 46-50

Alulell | 34000 | 46000 S5000 | 70000 | 35000 | 20000 | 12000

duell
§el ot | 1020 | 2560 (2600 | 9200 | 1100 | 160 | 72
L
@il
Q.3(s) ¥Hostel :(1) CDR UA SDR (6)
(2) IMR |
(b) & 23l 1A ARl Bl Gurel 59 2@ widlouoll e (7
ABaud 87
GH2 W A a3 B R |
il |l [ Rval | el | e R cteell
0-5 6000_| 300 5500 | 110 5000
5-30 7000 | 210 7500 | 120 10000
30-60 {7000 | 170 12000 | 144 15000

60 ol ay 20000 | 400 25000 | 500 20000

(©) As wdall se el 4 i B, ol wllRQell dval 40% B, el Al ()

€




Aveltell 50% el ywelsl clat 1A B, Bl Abell WEL Yyotot £2

GFR 40 821 A el o eMalot set bacl wasl o dj

v{ojl-uat 83,
Q.4 (a)‘%wl [P RNed 9?7 Aol @]zlélzﬁ‘mgucn. - ' (6)
() Qs Reglot Axall (1000, 100,2) HE2 wiHl YL 0.04 82t Al Pa, (7)

AOQ A ATI AN, (e = 0.0183)
(c) & Redlot Agall (100,20, 1) HIZ g wilyHL 2% 82l dl (5)
el acllsiz sreltell dewdstl UL,

wela

Q.4(a) ¥Hocl: (1) s [Redlot Alogall (N, 0, ¢) 6) .
(2) AOQ ¥l AOQL | |
(0) Agsell £RA, Aot el 88 Aoyt wél shax? )
Aogell | (N0, ©) LTPD
I (50,8, 0) | %

o] (1000,100,2) | 5%
(€3 = 0,007, e = 0.0067)
() 315 Peslot degatl (50, 10, 0) WE AQL=4% R LTPD= 10% & a

BeulE5o] RuiHL Aol Ulesa] FuH A,

B,

]




